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Whole Number Quotient Florist

Question 1 (Short Answer)
£10

There are 24 roses, which must be
divided equally into 6 baskets. How
many roses will be in each basket?

Answer:

Question 2 (Short Answer)
F10

A florist has 35 yellow tulips and
wants to put them equally into 7
vases. How many tulips will be in

each vase?

Answer:

Question 3 (Multiple Choice)
/10

The florist has 48 orders and packs
them equally into boxes onto 4
delivery trucks. How many boxes
will there be on each truck?

AL 45-4=44
B. 48x4=192
C.48/4=12

Question 6 (Short Answer)
/10

The florist has 45 vases of lilies and
organizes them on 5 equal shelves

in her store. How many vases will
each shelf hold?

Answern




Question 4 (Matching)
F10

Question 5 (Matching)
F10

The florist is giving away 32 orchids
to be shared equally among 4 She wants to divide them into

schools. How many orchids will bundles of 9 dahlias for wedding

each school get?

centerpieces, How many bundles
will the florist have?

Write the matching phrase across
from the prompt on the left using
the below phrase bank as possible
ANSWErS,

Phrase bank: 8, 7 ANSWErsS,

32/4= Phraze bank: 8,6, 9

72/9=

Question 7 (Short Answer)
£10

Question 8 (Multiple Choice)
£10

The florist has 54 flowers and
plants them equally into & flower

28 sunflowers are divided into
bouquets of 4. How many
bouquets can be formed? beds. How many flowers will be in

each flower bed?

A 34/6=8
B. 54/6=9
C. 34/6=T7

Answer:

The florist has planted 72 dahlias.

Write the matching phrase across

from the prompt on the left using
the below phrase bank as possible

Cuestion 9 (Short Answer)
£10

The florist also sells chocolates. She
has 36 chocolates and arranges
them into gold boxes, with 12
chocolates in each box. How many

bowes are needed?

Answer:




Question 10 (Multiple Choice)
£10

The florist uses glass beads at the
bottom of mini vases. There are 40
glass beads; each vase should have
10. How many vases will be filled?

A 40M0=4
E.40/10=14
C.40M10=5



Answer Key for Whole Number Quotient Florist
1: 24/6=4

2: 35/=5

3:48/4=12

4 (in order from top to bottom): 8
5 (in order from top to bottom): 8
6: 45/5=7

7:28/4=7

8: 54/6=9

9:36/12=3

10:40/10=4



